TIW4323 TOPJET
GRAVITY WALL AIR INLET

DOUBI.EVLGROUPLLC ’"’Et Parts ’.iSt

FRONT VIEW BACK VIEW

Description Part No.

-

A #10-24 x 17 HX Trim MS 18-855 CB1206 PRI \
B Rod 3/8” V124 41-3/4” SS2246 0\ \\ v
C Bar Weight 3/8” x 1" x 40-1/2” BA2486 o

D #10-24 x 1-1/4” SS Carriage Bolts CB1205

E #10-24 SS Lock Nut w/ Nylon Ins LN1024

F  #10-24 SS Wing Nut WN1024

G Zinc Push Nut 0.05” O.D., 25” I.D. 900200PN

H Plastic Nail 900086CH

I Inlet Frame Profile 42” 900078CH42”

J #6 x 3/4 Screw 600075RN

K Hinge Clip 900082CH

L Extension Profile 42” 900079CH42”

M  TJW Large Holder 900083CH

N TJW Small Holder 900084CH

O Twin Wall 41.5” Blade with Channel 900088CH

Have technical questions? (563) 875-6257 or 1-800-553-4102

Contact Dick Streicher at www.doublel.com
1-563-875-6257 or 1-800-553-4102 www.youtube.com/doublelgroup




TIW4323 TOPJET
GRAVITY WALL AIR INLET

Douste L GRouP... Inlet Installation Instructions

; 1L . Wl
| | 5 =
|
|
i. | |
ﬁ ! \ I |
| | |
| ’ |
| |
A R L2 ~ N = T il
-.I’\#\‘ii.- ot Yy
Step 1. Push the top, Step 2. Install the
botttom, & center profiles other endcap.

onto one of the endcaps.

Step 3. Using a rubber mallet, pound the

plastic nails into position on four corners
and the center profile.

Step 4. Slide 3/8” rod into rod holders on clear louvers.

Step 5. Slide the louver into place,

Step 6. Snap the rod hinge clips into place. Using #6 x 3/8 screw,
resting the rods onto the pivot holders. fasten rod hinge clip into place.



TIW4323 TOPJET
GRAVITY WALL AIR INLET

Step 8. Install 1/4” carriage bolts through slotted Step 9. Install 1”7 bolt through outer hole in right
hole on left side of rod holder and weight bar. rod holder and weight bar. Secure with lock nut.
Secure with wing nut.

- T ‘ Have technical questions?
. .~ Contact Dick Streicher at
231/," 1-563-875-6257 or 1-800-553-4102
| 1 | (563) 875-6257 or 1-800-553-4102
433 www.doublel.com

| 1 www.youtube.com/doublelgroup



